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Using the data below, find the particular data types aske
| = an, 85, 87, 92, 75, 86, 94, 95, 100, 88, 92 ’

5. Mean = 17

6. Median = 0 [ 8
—

7. Interquartile Range = S‘\'A’@C '/) 03'Q

8. Range = 26

9. Standard Deviation = 6

Complete EOG student suggested review
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Math 1 EOC Review Sheet I(\f\’

Section 1: Systems of Equations

1. An Algebra teacher is giving a test worth 150 points. The test will have 46 three and five

point questions. How many of each question is on the test?
Rl N =\50 Sy;rSu-\SO ‘j b D¢t questens 3(40)»62.):'5(:-
XrN FHb M HO 3pr questens Hort
ﬂ. amd

2. How much of a 25% juice mlxture would you have to combine with a 55% ]UICE mlxture

create 32 gallons of a 40% juice mlxture \
* 25 255 + 55(B2-x) = 32¢+0 - \‘0 allons
27-% 59 '2,‘:_')1.\' \‘M) 551- E \7.‘80 9

32 HO
3. Rich Rhonda collects nickels and quarters. %—‘Ier piggy bank now holds 30 coins amounting to

$5.10. How many of each coin does she hav a5+ 28 (\3] =R

X dmwe nickels li O5nr. 1;;&

¥ Quar Vees WYY =
v 8 F 8 \
- 5
Section 2: Quadratics %= |2 ke
18 guar Ftvs
Section 2: Quadratics K= | L niewoe~
18 guar¥rs

1. Identify the vertex, axis of symmetry, min or max, and range of the following function:

y=x2+6x+9 ~
vertex: (-3, O) max o. D.' R
G- §
Axis of symmetry: X =~3 range: i >
o J20
25 200 2

2. The amount of medicine in Elizabeth’s blood is modeled by the function M(t) = -2t* + 14t,
where t is the number of hours after she takes the medicine.

a. How many hours after Elizabeth takes her medicine is the amount of
medicine in her blood the highest? =2 4 - -4 .
Za _z) - Caon alSo Vool
b. What is the highest amounSof m in Ellzabet s blood'? for MmaY whwen
grap e ek

-2(2.€)* (23S
When will there be no rnedlcme eft in Elizabeth’s blood?

‘“?—TZ*H 0n g\uph ook fov positXC

GO Gl omwear

C.
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$20 T L=
3. There are three consecutive positive integers such that the product of the smaller two is 34
less than 10 times the largest integer. What is the value of the smallest integer?
¥ X(xr\) = 10(xr2)-34
i:ll x*ix = 102034
x*rx = IO% - |
“1on ™M -16% H1Y
*x*-ayri4 =0
(%=1) (x-2)
%=1 x=2
N
-\ i
X
:l-_ﬁl_‘: 4 2
\\ o
4. Which equation matches the graph shown at the right? ’
a. y=8x*+2x-5 W
:_2.'
b. y=8x2+2x+5 Ty

= 2x2 +8x-5 ‘1 rR= "2 \j-\Vd 5

y=2x>+8x+5
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Section 3: Geometry

1. M is the midpoint of AB. If A is located at (6,10) and M is located at (5,7), find the coordinates

o _
of B. (6i\0) L_?J}\ & Em ’%"/,? %— :1,
Xz(o:l?o L&)

_____k."i_-—— -Lo
w2 \j:“]

2. Find the perimeter of a triangle if the vertices are located at A(2,1) B(6,-3) and C(1,-7).
IYEINPETE R s M N FENCE
\;'3;5, + J9 % G
3. The length of a rectangle is five less than four times the width. If the perimeter is 50 feet, find

the length. \0x-103 50 \ < 4x=5
4x-5 . engih
00 H ()5

% *
lq\‘j_sf bef(ob - '21\._
_?"0’ \q £+

4. The surface area, S, of a cylinder is calculated using the formula S = 2mr/ + 21rr? . What is the
equation for this formula solved for | , the length of the cylinder?

S: QTTY—-Q* ’2'“'{1'
21 ™ "'2'“_"[2'

)

""' i

May 18, 2023
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Section 4: Linear Functions

1. What is the equation of a line parallel to 2x - 3y = 12 through )
2n-3y > \2 22 =myrb
T e  MTF e GV
VRS PLIv] Lot ot

= — -z -
2. What is the equgtior? of a line with an undefined slope passing through (3, -4)?
X=3

3. Find the range for the following function given the domain {-2, 3, -5} : y = -4x - 1
—a(-D-) = 1
-(3)-1 =\ %_—\’b,'l,\"l}
-93(-6)-1 =49

Cammbimem E0 Camtbar DiAd~

Y

o 1 . . 1.5
. e 26
T
e 0T

& U3y
et
w | e

7 549

a) Equation of the Line of Best Fit/linear regression equation: lj =H4,92% -Z‘ 55

b) What does the slope mean in the context of the problem?

.42 \\bs gamcd/mon‘th

c) What does the y-intercept mean in the context of the problem?

sTadms NCiﬁh\‘ (q‘.’fhoug}\ not vca\kﬁ\c)

d) Using the trend, how much will the panda weigh when 2 years old? 24mo

442024)-2.95 = \\5 .62 \bs
Is this realistic? Yes
e) What is the correlation coefficient and what does it mean?

(=961 steng positine

f) What is the residual of a panda that is 6 months old?

-2.68
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Section €: Sequences
1. Which sequence uses the algebraic expression 4n + 5 to describe the relationship between a term in the sequence and

its position, n, in the sequence?
A.4,9,14,19,24 ... B. 4, 8,12, 16, 20 ... C.9,13,17,21,25.. D.9,10,11,12,13 ..

2. Complete the table:

{1,5,9,13,17,..} - U - - A
L2 8 - 1X an - -
{Q’B,B, 1..} (‘4\1‘ _ ° + [ (¢ ‘ — .
{15,30,45,60, 75, ..} - S')( 01 r ¢ [5

Quizizz: Math 1 EOC Review
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